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R-97
B.Com. (Pt IT)
2150-11 Econ. Admp. & Fin. Managt. [1
B.Com. (Part IT) EXAMINATION, 2015
{(New Scheme)
(10 +2 + 3 Panern)
ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT
Second Paper
(Elements of Financial Management)
Time allowed : Three hours
Maximum marks : 100

Answers of all the questions (objective
as well as descriptive) are 1o be given
in the main answer book only. Answers
of objective 1ype questions must be
given in sequential order. Similarly all
the paris of one question of descriptive
part should be answered at one place
in the answer book. One complete

PTO

www.a2zSubjects.com

worspalgngzre mmm

WO $102[gNGZze Mmm

WO s13[gngz e mmm

wodspafgngzre mmm

www.a2zSubjects.com

question should not be answered oy
difterent places in the answer book.

No supplementary answer book will pe
given to any candidate. Hence the
candidates should write their answers
precisely in the main answer book only,

TH (TRGITT T T ®) 7 & gy
=7 e graaer 4 & ford ) awgie ey
& GOV J¥9 & FHFEr & ) s
BT [ W 0@ FulTIeTE vy @ g
g8 73 [3f3=7 7wl & TV I gliger ¥
ST R TY &6 FYH B ToAY U
& Wi GV BHFEY B BY/

et +ft gl & qed g gleasTr 7@
& wrft o whenll B aiey [F @
ey goregRast 4 8 waed gF & oY
wel &7 # fordd |

PART-1 (OBJECTIVE)

Maximum marks : 40

Answer of question no. 1 (i) to (x) should
not exceed 20 words. Each question
carries 2 marks. Answer of guestion no.
2 (i) to (v) should not exceed 50 words.
FEach question carries 4 marks.
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v(.v)/(']ive two other names of Fund Flow Statement.
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What is ‘Maximisation of Profit Objective’?

AT ST PR B 9L w7

What is meant by ‘Financial Statements' ?

fadra fRaver | F aead 2 7

Explain Comparative Balance Sheet.

W%Wﬁml

How is Inventory Turnover Ratio computed ?

ma@ﬁ[ﬂjﬁﬁﬁﬂ“ﬁﬂﬁmﬁg?
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i) Explain Fixed Costs.
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feaw @rmt 8 v

¢vii}  What is Long-term Financial Pianning ?

e T Ao e g 2

Ly,{_;/\l.ha: do you understand by Shares ?

{my Explain Transaction Motive,

z)/ What is Walter Formulae of Dividend Policy ?
arate S 7 Y S d1 8 7
tivs Neha Limited has current ratio of 4.5 : 1 and quick

ratio of 3 - 1. If its inventory is ¥ 72,000. Find out its
Total Current Assets and Total Current Liabilities.

4z7 fafaes @1 g @q9a 4.5 1 1 R e
FTA 3 ) &)1 Af g 6 Ged ¥ 72,000 8 7
7% o @i, Wl 14 U e 9|
Fiad |
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J-'r."l/Hou is profit from operations computed while
preparing Fund Flow Statement ?

T SE mTER ® T R 7

@a/'rne following informations are zvaiiable from the
cost records of Gaurabh Limited

Ao '?,
Fixed costs 84,000
Variable costs per unit 10

-
Lh

Selling price per uan

What should be the selling price per unit, if the break-
even point is brought down to 16,000 ?

S g ¢t
fer & 96,000
o go TRedThE Fd 10
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Mﬂe any four advantages of Adequate Inveng,
ry,

ugfq s @ Big aR o ol

(&5 Explain Bail-out Pay-Back Period Method,

g-a9c U-4% ol R ) wEgmEy

PART-II (DESCRIPTIVE)

Maximum marks: 60

Attempt any three questions, selecting
one question from each Section. Each
question carries 20 marks.

HeIT &V A W 0% 5T B 97 w5 gy
For 1T wE B Twv Mo pew gry
20 3F #FT &/

Section-A
WHrE-y

3. What do you understand by Finance Function ? Explain the

functions and responsibilities of a Finance Manager.
8+12
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L2
b

From the following Balance Sheet of ABC Limited, prepare
(i) The statement of working capital changes and
(ii) Statement of sources and uses of funds :

Balance Sheets

(As on............)
(Amount in¥)
Liabilities 31st March

2012 2013

Trade creditors 31,000 29,000
Current liabilities 16,500 15.000
Accrued expenses 1,500 8,000
Mortgage loan 10,000 15,060
Share capital 50,000 65,000
Retained earnings 14,750 17,000
Total 1,29,750 1,49,060
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iny,
Assels st Margy,

2012 201

Czsh in hand 15,000 999
Dehtors 25,000 27,000
Sk 35,000 40,000
Investment 3,000 )
Plantcost T0.000, 80.000
Less dep. 25,250 ﬂ 44,750 73,000
Gondwill 5,000 .

Tota! 129,750 1,49,000

Acddnional informetion:

(iv  Depreciation provided during the vear 2013

amouniedto ¥ :,730.
(fiy  Goodwill was written off out of retained eamings.

(i) Dividend paid during the year 2013 amounted ®©
00, g+12

tra

-
g
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ABC fafitz & fPr=fafen feefy Reeesr ¢ 48R
Fiwd : (i) TEhE 0 4 ofted w1 faeee @3 o
(ii) @ varE faaw o3 -

(3 FER)

fae 319
012 2013
RS FIER 31,000 29,000
=, T 16,300 15,000
IqTvia @4 7500 000
TE FH 10,000 15.000
sw & 50,000 63,000
gfrenfa s@= 14,750 17,000
am 1,29,730 1,49,000

weafd 3174

2012 2013
T A5 15.000 9,000
o PTO
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TR 25,000
%] 35,[}00
faferi +000

wToe FIwd 70,000, 80,000
B Uera125,250, 7,000 44,750

e 5,000
qrT 1,29,750

Hﬁﬁﬂiw

27,000
40,009

73,000

=

149,000

————

() T 2013 B IR 7 1,750 BT BN Sl faay

a1 |

iy ufeenRa omg & wafy swfafag & 78

iy T 2013 @ I ¥ 3,500 FT A YHE

Tar|

Section-B
wrg-q

8+12

5. What is meant by Financial Forecasting ? Discuss its various

tools in brief,

8+12
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0. l
accounting books of Aakash Ganga Enterprises, on the basis
of the following, estimate the working capital requirements
by operating cycle method :
(1 Estimated sales 2,000 units @R 5 per unit
(ii) The production and sales volume coincide and will
be carried an evenly throughout the year.
(iiiy The production cost is estimated as below :
Material 72.50 per unit
Labour % 1.00 per unit
Overheads 21,750
e d
jv) Customers are given 50 days credit facility a:;
1 i e
‘ 40 days credit facility 1s received from t
suppliers.
i ' I
(v) 35days of supply of raw material and 13 days supply
V -
of finished goods are kept as inventory.
aterials
i) production period is 13 days and all the mw.m -
¥ are issued at the beginning of every operating cyclé.
: i ital is
(vii) Twenty-five percent of average working ¢ap .
vii ' !
kept as cash for contingencies.
PTO
A-97 11
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9 geran &
(iii) SIS AT Bt U st o1 8 & -
| X2.50 iy goré
59 ¥ 1.00 9y go&7¢
yRarg 21,750 |
(iv) msﬁﬁsuﬁqahmﬁﬁmﬂtﬂlﬁr%afn
{ﬁﬂﬁ'ﬁaﬁ% '%mﬁqﬁmgﬁmmaﬁr
|
) 35ﬁﬂ$aﬁlmﬁqﬁmtsﬁ={$uﬁm
Pl T B BT v 2
(vi) Wmlsﬁﬁ%aﬂvmmw
:ﬁmwﬁﬂmﬂmzﬁmﬁﬁlﬁﬁaﬁmm
|
(vii) mmiﬁﬁmzsnﬁmma%m#
& T v e 2 20
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Section-C
HUs-H

.. ,_(;X’ The following particulars have beeg taken from the
books of Sunrise Limited for the year ended 2013 -

Amount ()
§ Total gross sales 10,000
g-' Cash sales 2.000
[
&
) Sales returns 700
g Total debtors 900
Bills receivables 200

Provision for bad and doubtful debts 100

; Total creditors 1,000
g Compute Average Collection Period. 10
=3 _ .
g Prefafa got wvew fafies & gl 3
2 TG A TR W20 A AT T
2
3
A GHA (4D 10,000
RERLED | 2,000
A-97 13 P10
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Ry amod 700
B SRR 900

$a0 9 e o & e weem 100
B TER 1,000

i R srafy @ Mo R |

10

J,b/The details are available in respect of Plaza
Limited ;

Annual requirement of

inventory 4,000 units

Cost per unit %16

(Other than carrying and

ordering cost)

Carrying costs are

likely to be 15% per year

Cost of placing order ¥ 480 per order
Determine the Economic Ordering Quantity. 10
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B 15%, ufaad

A ¢ B A 2430 9 3

IE Fw " B Prafeor G 10

8. What do you understand by Risk and Uncertainty ? Discuss
the methods of adjusting risk and uncertainty. &~12

SR vd sfifeaan 3w T e 2 2 e o

T B TR T e W 5 e
Hifd | 812
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